
CPSC final Practice 2023

(1) (a) True : The Bodean variables in the

proof of the CookLevim theorem can be

used to build a circuit of size Offin't

for
any turing machine that takes time tinl

Cassuming trish for all n).

(b) False : Formulas
are very special cases

of circuits ; having a circuit of size OCtrit

does not imply that you have an equivalent

circuit of size O (fini (or any polycal).

(2) True; see a homework problem this year,

which reduces SUBSET-Sum to PARTITION.

(d) True ; if P: HP
,
then

any
Lep

st . L or [
*

for some I is HP-complete .

(e) True; done in class ; an alternate method








